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Time: . Presoure

Energyt

18 = 1,667 X lg"? min = 2778 X 10~ hr INm™? w 9.265 X 107° aum
= 31§g X 108 yr = 1450 X 101 b in?
Pmin = 805 = 1.867 X 107 hy = 10 dyn em—?
= 1.901 )< 10~ ﬂyz Latm = 347 1bfin=? = 1012 X 105 N -2
Thr = 36005 = 60 min = L34l X 104 yr 1 bar = 10% dyn cm—?
L yr = 3.158 X 107 g = 5259 X 105 min

8.766 X 103 hr

1 = 107 ergs = 0.959 en

Eﬂngth- ' : R - L
g ¢ ~4 o PeV = 10~ ﬁMeV_ 16D > 16712 epg

oo = 3937 in. « 6.214 X 1074 mi = L.0O7 X 107% pinu

= 5280 ft ~ 1.600 km Peel = 4188 ) = 2,613 X 1019 ¢V

i

]

}m = 2.540 cm = 2807 X 10‘0 nm
1 A (angstrom) = 10~8em = 19-10 1 amu = }.402 > 10-10)
= 10=¢ » (micron) = 2564 > 107 ¢l = $31.0 MeV
1 p (mlcron) = $0-6m -
I AU (astronomical unit) = 1.485 X 101! m Femperatuze:
I light year = 9.46 > 1018 K= 2731+ °C
1 parsec = 3.084 X 10'%m °C = § (°F — 32)
°F = §°C + 32
hngle Powey:
H [+}
L radian = 57.8° IW = 1.341 X 10-3 hp
1% = 1.74 X 10~2 rad 1hp = 745.7 W
1 = 281 X 1074 rad '
1" = 485 X 10~8 yad ' Electric Charge:®
1C = 3 X 10° 8t
Lz _ Pt = X 1070
I m? = 10% em? = 1.56 X 105 jn? Current:®
= 10.76 {13 A =3 9 gt
1in? = 8.452 om? AT %Z(\(”ioﬁ“g"‘,
2 . 2 2 BLA = g 20 JUT" A
_ 117 = 144 (0% = 820 X 107% m LA = 10-0 A 1 mA = 1073 4
Volumm Electric Fieid:®
1md = 10% em3 w 10% liters INC! = 1 Vmt s 1077V gm-!

= 353t} = 6.1 X 104 in® ®

#

5 107 atV om !

; 5:‘133 - %fggﬁrigun m? = 28.92 liters Electric Potentinl,®
- 1V = § X 1072 gtV i
- 2
Vc!a«cigy: 1 8tV 3} 102V
1ma~! = 10%ems=! = 3.581 i g—) Reslatance:
1fts! = 30.48 ¢m gt 18 = 1080
!l min=! = 60 fhi hr~! = 83 54 g~ MO~ 0
Capacitance:®
Ageeleration: 1F = ¢ % 10! giF
1 ms=2 = 10% ¢m =2 = 3.281 ft g~2 1stF = § X 10-11 F
1ft 8~23 w= 30.48 cm g2 1pF = 1079 %, 1 pF = jo-12
Mas Mﬁgneiécéiﬁ'irzid: ‘ e
1 kg = 103 g o 2.805 b PT = 10% gaues, 1 gnusg = 10-¢ 4
1lb e= 453.6 g = 0.4536 kg Magaetic Flux:
Tamu = 1.6604 X 10727 kg 1 Wb = 10% maxwell, | maxwell = 10-% Wb
Foree: - . Magnetizing Fleld: |
1N = 105 dyn = 0.2248 Ibf = 0.102 kgf LAm™ = dr X 1075 oersted
1dyn = 105N = 2.248 %X 106 |bf 1 oersted = 1/47 > 103 A m
LIbf = 4448 N = 4.448 X 105 dyn *In all a . . S
kef = 981 N 3.357‘.” cases, 3 actually means 2.988 and 9 mes

¢



Tobla A-2 90 nstant e Syﬁ;—‘h?}: - Xﬁhm
Velocity of ligl!t . ¢ . 20070 X 108 ms—!
Fundaingnial Elementary charge e 1.602] % 16-1%C
Constants Electron rest mass 'r;g,, £.1008 X 1073 kg
Proton rest mass mp . 1.6725 X 10?7 kg
Neutron rest mass g 1.6738 X 10727 kg
Planck constant k. . 06256 > 1079 J s
h o= hf2w 1.0545 X 10~34J g
Charge-to-mass ratio for electron e/m, 1.7588 X 101 kg~! C
Quantum charge ratio “hie 4.1356 X 10-1%js C!
" [3ohr radius ao 5.2017 % 10-m
Compton wavelength:
of electron Ao ©2.4262 X 10~1%m
of proton e 1.3214 X 10715 m
Rydberg constant R 1.0874 X 107 m~1
[T B Faa et ‘.’r!t:!:: o
Bohr magneton up 9.2732 X 102t j T-!
Avogadro constant Na 6.0225 > 10%3 mol—!
Boltzroenn constant k 1.3805 » 10723 J K-!
(Gas constant . R - 8.31437 K. ~!mol-!
Ideal gas normal volume (STP) Vo L .2.2414 X 1072 m? mo} !
Faraday constant F 9.6487 X 10* C mol™!
Coulomb constant K. 8.0874 X 10* N m? C~?
Vacuum permittivity - €0 8.8544 X 10712 N—I m~—2 (2
Magnetic constant Kn 1.0000 % 10-7 m kg C—2
Vacuum permeability 1o 1.2566 X 1078 m kg C—%
Gravitational constant ¥ 6.610 X 10711 N m? kg2

Acceleration of gravity at sea level and
at equator g

6.7805 m s—*

Numerienl constants: 7 o= 3.1416; e = 2.7183;

A S

V2 o= 1.4142; /3 = 17320
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